April 27, 2017

/0.7 Usiny factors 1o

Qxdt e nwewnbecs ked add -"3&‘"(
ks

Sel ve 7= axéstlvrC wMEn =
Mok wubibly
Vv e for— Q\L\d{, )\—"J\:’w:WM\MVf
o9
Lodoraser PO e
g Jb(goimdgw’ ) ~ lwhton?
‘Efﬂ\d-;w fe SJIAV\J(MJ Covm (ot W wew Fhe 5
) g Gackor XA
2 iy 3;‘ : ;
X"+ )2x + XZ_—ZX_qX
M+~ = o 5 N = &
7+ 5 =) -
L =c RS
D5 =35 SE
o -
5) abs ¥
(&+7X&+ P
(X,z)/ﬁ“)
] &=\ b:‘L =23
\9’:X—(o><+(3 - i
(e DS-SVI"“""'-{'V-% x;‘;ﬁ;:—s
X = "'27[-_19_ fé‘-L—)) =9-18 +& /3I -
Verdex  (ze) Wae b @3
+ ¢
Y- ﬁ )x+n) O
X= it (x+m )X+ 70—’7‘“/0:%—2
4 7

Xz=rmp-h




April 27, 2017

T~

Oauq weé Fac-\z-af_
Can we Pird w n
= b

r~+n =

mXn =




